Study

Odds ratio (95% Cl)

North America (n=47,938)
DPP Asian g 0.82 (0.40, 1.66)
WHI-OS Asian & 0.78 (0.45, 1.34)
WHI-OS Hispanic < 1.40 (0.96, 2.02)
DPP Hispanic 1.00 (0.73, 1.37)
DPP African American < 1.29 (0.99, 1.70)
BLSA < 1.09 (0.83, 1.42)
QFS | 0.98 (0.76, 1.28)
HAPI 1.01 (0.77, 1.31)
FamHS * 0.83 (0.64, 1.07)
WHI-OS African American ——— 1.00 (0.82, 1.22)
WHI-OS white —— 0.97 (0.83, 1.14)
DPP white —— 0.97 (0.83, 1.13)
NHS & HPFS cases — 1.01(0.89, 1.15)
NHS & HPFS controls —— 1.16 (1.01, 1.33)
ARIC _I._ 1.03 (0.96, 1.11)
WGHS “{:) 0.99 (0.94, 1.04)
P for association = 0.46, 12 = 4% < 1.01 (0.98, 1.05)
Europe (n=164,307)
Fusion Stage 2 controls < 0.69 (0.43, 1.11)
DPS &> 1.20 (0.86, 1.67)
Fusion Stage 2 cases \ g 1.07 (0.81, 1.41)
Segovia * 1.04 (0.76, 1.43)
ORGGEN cases . 0.99 (0.76, 1.29)
RISC — 0.97 (0.75, 1.26)
MRC Ely —_— 0.92 (0.72, 1.17)
HUNT2-DiaB cases IS I a— 1.06 (0.83, 1.34)
ORGGEN controls + 0.82 (0.59, 1.14)
Fusion Stage 1 controls g 0.94 (0.69, 1.27)
TUEF & TULIP — 1 1.06 (0.84, 1.35)
GOOD — 0.95 (0.78, 1.15)
Fusion Stage 1 cases — 0.91 (0.73, 1.13)
INCHIANTI T 1.19(0.93, 1.51)
ERF — 0.93 (0.79, 1.10)
EPIC-NL — 0.85 (0.67, 1.08)
HUNT2-DiaB controls —— 0.98 (0.81, 1.20)
YFS — 1.08 (0.94, 1.24)
PPP-Botnia -T— 1.15 (0.95, 1.40)
BWHHS —T— 1.05 (0.95, 1.17)
AGES-Reykjavik —— 0.96 (0.87, 1.07)
Rotterdam — 0.99 (0.87, 1.12)
TwinsUK —— 1.12 (1.01, 1.24)
NFBC1966 T 1.05 (0.95, 1.17)
DESIR 1.02 (0.94, 1.11)
EPIC-Potsdam 1.10 (0.99, 1.22)
METSIM 1.05 (0.93, 1.18)
ELSA 1.02 (0.94, 1.10)
Colaus 0.91 (0.81, 1.03)
Birth Cohort 1958 1.04 (0.93, 1.17)
Inter99 0.94 (0.87, 1.02)
MONICA/KORA 0.94 (0.87, 1.02)
GLACIER 1.05 (1.00, 1.09)
MPP 1.05 (1.00, 1.11)
EPIC-Norfolk 0.98 (0.94, 1.02)
MDC 0.98 (0.94, 1.03)
P for association = 0.35, 12 = 12% 1.01 (0.99, 1.03)
Asia (n=5,921)
Singapore NHS98 Indian Asian 1.02 (0.72, 1.44)
Singapore NHS98 Malay < 1.09 (0.79, 1.53)
CLHNS —_—— 1.03 (0.83, 1.27)
Singapore NHS98 Chinese —fo——— 1.03 (0.84, 1.27)
P for association = 0.56, 12 = 0% <:> 1.04 (0.92, 1.18)
Overall P for association = 0.20, 12=1% $ 1.01 (0.99, 1.03)
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